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STOICHIOMETRY TEST REVIEW
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Stations Directions: Start with the stations you feel are most challenging for you. Take the necessary notes you will need to complete this station. The questions given to you mirror the questions that are on the actual test.
Station 1: Mass, Moles, Molecules

	Take necessary notes for this station in this box.
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Answer the following questions and show all necessary work.
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Station 2: Percent Composition

	Take necessary notes for this station in this box.












Answer the following questions and show all necessary work.
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Station 3: Empirical and Molecular Formulas

	Take necessary notes for this station in this box.


















Answer the questions on the next page and show all work.
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Station 4: Reaction Types

	Take necessary notes for this station in this box.




















Answer the questions on the next page and explain your answers.
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Station 5: Mole Ratios

	Take necessary notes for this station in this box.


















Answer the questions on the next page and show your work.
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3. The total number of molecules in 34.0 grams of NHj is equal to

A 1.00x224 B. 200x224

C. 1.00x602x10% D. 200x602x10%
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4. Approximately how many atoms are there in 3.0 moles of Al?

A 60x107 B. 260x10%) C. 3(60x10%) D. 4(60x10%)
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5. How many molecules are in 0.25 mole of CO?

A 15x108 B. 60x102 C. 30x102 D. 9.0x10%2
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6. What is the total number of moles in 80.0 grams of C;HsCl (gram-formula mass
= 64.5 grams/mole)?
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7. What is the percent by mass of hydrogen in NH; (formula mass = 17.0)?

A 59% B. 176% C. 214% D. 824%
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8. The percentage by mass of hydrogen in NH; is equal to

1 3 17 6
A px100 B. x100 C. 3 x100 D. 5 x100
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o,

What is the percent by mass of zinc in ZnCO; [gram formula mass = 125g]?

A 1% B. 48% C. 5% D. 65%

9.
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10. What is the percent by mass of hydrogen in CH;COOH (formula mass = 60)? 10.

A 17% B. 50% C. 6% D. 71%
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1.

Which is an empirical formula?

A GH, B. CH,

C. ALCl

D. K0

11
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12. A compound contains 40% calcium, 12% carbon, and 48% oxygen by mass. What 12,
is the empirical formula of this compound?

A, CaCO3 B. CaCy0s C. CaC;0s D. CaCO,
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13. A compound consists of 85.7% carbon and 14.3% hydrogen by mass. Its empirical 13,
formula is

A CH B. CHy C. CH; D. CHy
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14, What is the molecular formula of a compound that has a molecular mass of 42 .
and an empirical formula of CH?

A. CHy B. CHy C. GiHg D. CiHpp
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15. A compound with an empirical formula of CHy has a molecular mass of 70. What ~ 15.
is the molecular formula?

A CH B. CHy C. CyHg D. CsHyy
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16. Given the reaction:
Mg(s) + 2AgNOs(aq) — Mg(NO3)x(aq) +2Ag(s)
Which type of reaction is represented?

A, single replacement B. double replacement

C. synthesis D. decomposition

16.
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1.

Which equation represents a double replacement reaction?

A 2Na+2 H,0— 2 NaOH+H, B. CaCO;— CaO+CO,

C. LiOH+HCl— LiCl+H0 D. CHy+2 0~ CO+2 H0

17.
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18 Given the balanced equarion:
2KCIO; — 2KCl + 30y

Which type of reaction is represented by this equation?

A, synthesis B. decomposition

C. single replacement D. double replacement

18.
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19. Which list includes three types of chemical reactions?

A, condensation, double replacement, and sublimation
B.  condensation, solidification, and synthesis
C. decomposition, double replacement, and synthesis

D.  decomposition, solidification, and sublimation

19.
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20. Base your answer(s) to the following question(s) on the balanced chemical equation 20,
below.

2Hy0 — 2Hy + 0,
What type of reaction does this equation represent?
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21. Given the reaction: Ca+2H,0 — Ca(OH), + Hy. What is the total number of 21
moles of Ca needed to react completely with 4.0 moles of H;0?

A 10 B. 20 C. 050 D. 40
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22. Given the reaction:

CHy(g) +20x(g) — COx(g) + 2H:0(g)

How many moles of oxygen are needed for the complete combustion of 3.0 moles
of CHy(g)?

A 6.0 moles B. 2.0 moles C. 3.0 moles D. 4.0 moles

2.
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23. Given the reaction:
2A1 +3H504 — 3H: + A(SOs)s
The total number of moles of H,SO; needed to react completely with 5.0 moles of
Alis

A 2.5 moles B. 5.0 moles C. 75 moles D. 9.0 moles

2.
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24 Given the reaction:
Mg+ 2HCl — MgCl + Hy
What is the total number of grams of Mg consumed when 0.50 mole of Hy is
produced?

A 60g B. 12g c. 30g D. g

24.
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25. Given the reaction: Na(g) + 3Ha(g) = 2NHs(g). What is the ratio of moles of
Ha(g) consumed to moles of NHs(g) produced?

A 12 B. 2:3 c. 3:2 D. 6:6




image1.png
Directions: This exam has 20 multiple choice questions worth 3 points each. You must show all of your work for your
answers. You may get partial credit for correct work with incorrect answers.

Showing your work includes: Explaining your answers, providing appropriate definitions, complete calculations, ete|
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The gram-formula mass of (NH2)2COs is

A d60g B. 640g c. mog D. 9.0g
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2. What is the gram formula mass of CuSOj - SH,0?

A 160g B. I7g C. 1s6g D. 250g




